m e R W B ®
5 m A\ P OE
S5 318 N
22 B T8 ABHE mE
oo B = Zh o/ s—kel B B 1B/ kg =
1 A =417 85 1 50 SA =1 TR OYVE
2
3
4
5
6
7
8
o9 X7V =i 6%E 1 30 4~8A £ JIVE
10
11 Y. 2}V, ) prap== 1 20 40~50¢g 3= B OUVE
12
13 QNP =N:) =5 1 50 90~120¢g 20
14
15
16 FHUVVY | BBE | RE 1 20 18A s
17| YV | dvsa RE 1 20 20A &
18 UV | Sl e 1 20 21 A 3
19
20 wiD) EH =5 1 80~100 2A £ JIYVE
21
22
28 KPIDY | RIF RIE 1 40 100g = JIVE
24 POy | FE Hh+hEB 1 30 60g s JIYVE
25
26 YUALN @i [EEZ 1 50 AREFS
27
28
29
30
X TARFTES] OWiE. YBRBFAXNZ LET, THBEORESR
XER = [ Ok - 1%k « 28k 1 TiA 1 ILE8E - SHREDPAEF
Off + » » BEKBIT \ _ 2 SFE=[EILEED
14k - « <« BIBKIBT HKFXIS , FEeDIBHEBZT 3 ZWE=[ERED
2ffk e o « 28aKIZT CEfg. REEVZLUED, 4 REED
i 080-5661—-0372 5 Bi7 - EED
- = & 000-9551-5232 6 B
St ff 080-4032—1253 7 BAANEF SIS
EEHMIZH $Fp 090—2895-0083 8 ZBIWE=[EILEED

B—ErRE SR

HFP=1800~




